YRR 2 9 FEHAERTARHE LRI A FRB R I

(1) —asik
L B¢ HFEE S | ZBEE | AEE
Tf iR R I 7 7 6
T G 19 18 15
AU a—F YA T AHEY 29 28 23
TEH S AT L THEHK 26 26 23
fEWR Y BT — 7 IS 29 29 21
VINTF AT 4T LHEHIK 25 23 24
NA FIHEM I FHIK 23 23 21
= it 158 154 133

() LEROHBEEBRKROZRELL, FHELELHEIHFLETLIETHHLTVET,
BRAEBICONTIE, H2HE, HIMEOHUTERLEALEZOTNET,

(2) & AFeBEK

3 B5'¢ RS | XBREE | AEE
TR AR 1 1 1
& it 1 1 1
(3) HEREANEARIERK
L B2'¢ HFEE S | ZBEE | AFER
Tf A P B 0 0 0
I a—FP A T AHIK 0 0 0
T AT A TR 0 0 0
TRy N T —7 FHIL 0 0 0
~VNVF AT 4T LFHIK 0 0 0
A FIEH L FHE 0 0 0
a it 0 0 0
(4) 4 3SERBEEXZ L T HRRRK
L B5'¢ HEEF R | ZBREH | 1 IREEFEE BHEE
1 AR B 0 0 0 0
1f A - B 0 0 0 0
A Ea—HF YA T AFI 3 3 2 2
B AT K TFRHK 1 1 1 1
Ry b T —7 FHI 5 5 5 5
~YNVF AT 4T LFHIY 0 0 0 0
PN A IF L FHIK 1 1 1 1
a it 10 10 9 9

(%) LEROHBEEHKROCZBREL T, FHXzH1IHMLETL2ETHELTOWET,
EREBICONTIE, B2HmE, HIMEOHFELTEKRLIELAELZOTVET,




(5) —RIK(2 IREE4E)

=3 B's HEE S | ZREH | AHEE
R e T aENl 6 6 3
& &t 6 6 3
(6) SMEI N AN GRS (I E M 5Y)
=3 B'e HEE S | ZBREE | AHEE
15 AR 0 0 0
e ettt Ny 0 0 0
g a—F YA = AKY 2 2 2
T AT L THHL 3 3 2
HWR Y N U — 7 FEHIS 2 2 0
~IVTF AT 4 T LHRIK 4 4 3
A FE R 2 1 1
= &t 13 12 8
(7) SMEANERAERSEREER(12 A £
=3 B's HFEE S | ZBREER | AHRE
TH IR 0 0 0
T G 0 0 0
A Ea—F YA T A 0 0 0
B AT LN TP 0 0 0
HWR Y BT — 7 FEHIS 0 0 0
VIVF AT 4 T THFHIK 0 0 0
A FIEH LK 0 0 0
& &t 0 0 0
Q) A vIxA—arvTy ) uP—REENTa s T hAEEREK
=3 B's HEE S | ZBREE | A
TH R HIL 0 0 0
AV Ea—HP AT RAFL 0 0 0
T AT A THHL 2 2 2
fEWR Y b U — 7 FEHIL 2 2 2
VIVTF AT 4 T LR 0 0 0
A FIEHLFHE 1 1 1
& &t 5 5 5
(9) —ix®ik (B REE)
=3 B HFEE S | ZBREE | B
15 AR 3 3 0
& it 3 3 0




